SCI/256 People, Science, and the Environment
The University of Phoenix

Final Test                                    


NAME____________________________

MULTIPLE CHOICE.  Circle the letter that provides the BEST answer for each question.  There is only one correct answer for each question 

TRUE/FALSE.  Indicate whether the following statements are TRUE or FALSE by circling the correct letter.  Remember that if any portion of the statement is false, then the entire statement should be considered false.  
1. Designing and constructing buildings that are made of recycled materials, energy efficient, and economical is a trend called:


A.
friendly construction.

 
B.
green architecture.


C.
environmental building.


D.
passive design.

E. Ecology anti-oil construction.

2. In 2014 the global human population reached    ?    billion. 


A.
 1.1

B.
 3.1
 
C.
 7.1

D.
 88.1
E. 110.1
3. Which event(s) is/are consequences of global warming? 


A.
melting of ice sheets


B.
increasing size of ice sheets


C.
rise in sea level


D.
drop in sea level

 
E.
A and C

         4.     T       F    
Many widely used chemicals may disrupt the endocrine systems, including the    

                                            reproductive systems, of humans and other animals.

5.

T     
 F              Millions of acres of tropical rain forests are cleared annually to provide housing     
               in developing countries.

6.      In science, a hypothesis:


A.
is a statement of fact.

 
B.
makes a prediction that can be tested.


C.
is usually proven to be correct.


D.
can only be tested once.


E.
All of the above

7.  
 T      
F

Inductive reasoning produces new knowledge but is error prone.

8.  
 T
      F

Deductive reasoning adds nothing new to knowledge, but can make relationships among data more clear.

9.      Preservation:


A.
has been practiced for thousands of years.


B.
allows the use of resources in a responsible manner.


C.
includes the practices of crop rotation and irrigation.

 
D.
maintains areas in a pristine state.

E. began with the first Earth Day in 1970.

10.      T
 F
The cost of pollution caused by the manufacture of a product usually has an 
                                   impact on the consumer's decision to buy the product. 

11.       Which of the following is not critical for a balanced ecosystem?


A.
decomposers


B.
producers


C.
plants


D.
consumers

 
E.
humans

12.    
 T
         F

Photosynthesis converts the energy of the sun into stored chemical energy.

13.      The shape of the bill on the bird in the figure below is most likely the result of:


A.
coevolution.


B.
intraspecific competition.


C.
parasitism.


D.
natural selection.

 
E.
A and D
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14.      Approximately what percentage of the atmosphere is CO2?


A.
  0.000001%

 
B.
  0.04%


C.
10%


D.
30%


E.
75%
15.      The primary reason we have seasons is because of the:


A.
Earth's rotation.


B.
Earth's orbit.

 
C.
Earth's tilt on its axis.


D.
density of the Earth's atmosphere.

E. layers of the Earth's atmosphere.

16. 
T
 F
The Wind blows because there is high pressure in one place and low pressure elsewhere.


17.      The biome most suitable for the development of farmland is:


A.
desert.


B.
tropical rain forest

 
C.
temperate grassland.


D.
chaparral or brushy scrubland.

E. tundra.

18.    
T
 F
Deserts only occur in the hot, tropical regions of the world.

         19.      At which point on the associated graph is the population increasing most rapidly?


A.
Point A

 
B.
Point B


C.
Point C


D.
Point D

   E.
It cannot be determined from this graph
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20.        The basic requirements of life include all of the following except:

 
A.
discretionary income.


B.
a balanced diet.


C.
clean water.


D.
adequate clothing.


E.
decent shelter.

         21.      T
         F      Renewable resources can never be exhausted.

22.     In the associated figure, the gull has the highest concentration of DDT because it is:
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A.
a more complex organism.


B.
an older organism.


C.
at the bottom of the food chain.

 
D.
at the top of the food chain. 


E.
homoeothermic (warm-blooded).

23.      T         F
Children are more susceptible to pesticides in food than adults.

24.   The reason that energy consumption is increasing is that: 


A.
energy prices keep falling.

 
B.
developing countries are using more energy as they improve their standard of living.


C.
the world’s population growth is slowing.


D.
foreign energy reserves are increasing.

E. farmers in developing countries depend on the energy of animals for plowing and other work.

25.   Today, the world's main energy source is:


A.
coal.


B.
hydroelectric.


C.
natural gas.


D.
nuclear.


          E.  oil.

26.  The process of refining uranium ore and insuring the proper amounts of various types of uranium is called:
        (hint: think of current news events)


A.
breeding.


B.
fabrication.

 
C.
enrichment.


D.
fission.

E. integration.

27.      T
      F

The reactor vessel in a nuclear reactor is not able to explode like an atomic bomb.

28.     Which of the following is not an emerging alternative, renewable resource energy technology?

 
A.
nuclear energy


B.
wind farms


C.
alcohol fuels


D.
photovoltaic solar cells


  E.  geothermal energy
29.   In the United States, solar radiation is greatest in:

 
A.
the southwest.


B.
the northeast.  


C.
the northwest.


D.
the mid-west

E. Florida.

30.  
      T 
         F

At least half of the world's people use wood fuel for cooking and as their primary energy       
              source.
31.    Water:


A.
is composed only of hydrogen atoms.


B.
is composed only of oxygen atoms.


C.
is composed of two atoms of oxygen and one atom of hydrogen.

 
D.
is composed of two atoms of hydrogen and one atom of oxygen.

E. is composed of two atoms of helium and one atom of oxygen.

32.    The two atmospheric gases most important to humans and other organisms are:

 
A.
 carbon dioxide and oxygen.


B.
 hydrogen and oxygen.


C.
 oxygen and argon.


D.
  carbon dioxide and nitrogen.

E. carbon monoxide and oxygen.

33.   Radon is:


A.
a metallic element produced in nuclear power plants.

 
B.
a naturally occurring gas produced during the radioactive decay of uranium that collects in basements.


C.
an alpha-emitting gas that penetrates the skin naturally.


D.
a secondary air pollutant resulting from photochemical smog that collects in basements.

                 
E.   a by-product of nuclear energy production.
34.        Based on the data in the accompanying figure, the year with the highest average global temperatures on record to date was:


A.
1960.
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B.
1975.


C.
1985.

 
D.
1998.


E.
2000.

35.  
         T        
 F

Human-produced pollution is the only cause of thinning of the ozone layer.

36.  
      T
              F

It is possible to use wetlands to purify wastewater.

37.    Humans depend on other organisms for all of the following requirements except:

 
A.
carbon dioxide.


B.
food.


C.
shelter.


D.
medicines.

E. clothing.

38.   An individual who is undernourished:


A.
probably consumes excess fats and/or sugar.


B.
is unlikely to contract marasmus since it must be inherited from at least one parent.

 
C.
receives fewer calories than needed for an extended period of time.


D.
has an adequate calorie intake, but is missing essential nutrients such as minerals or vitamins.

E. is one of an estimated 50 million children under age six who are undernourished.

39.    GM (genetically modified) crops and foods:


A.
may have higher nutritional value than the original product.


B.
may be resistant to pests, diseases, and stressful (weather)/climate conditions.


C.
may produce unexpected allergic reactions in some consumers.


D.
have been largely banned by the European Union.


 E.
All of the above

40.     Which of the following is the chemical formula for ozone?


A.
NO3

B.
SO3

C.
O2

D.
CO2
 
E.
O3

        41.       Which of the following is an accurate representation of a water molecule?
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42.
The total amount of fresh water available for human use is quite a bit less than:

  
A.
 1%.


B.
 2%.


C.
 3%.


D.
 5%.


E.
10%.

4. The greatest problem with the use of nuclear power to generate electricity is its production of:


A.
air pollutants.


B.
water pollution.


C.
carbon dioxide.


D.
radiation that is released into the surrounding region.

 
E.
radioactive waste that requires waste storage.

44.   Clusters of non-polluting wind turbines are called: 


A.
photovoltaic centers.


B.
solar wind farms.

 
C.
wind farms.


D.
air generating systems.


E.
wind electric centers.

45. Which of the following countries has the highest per-capita commercial energy consumption?

   A.
Canada


B.
Mexico


C.
Egypt


D.
Nigeria


E.
India

5. The reason that energy consumption is increasing is that: 


A.
energy prices keep falling.

 
B.
developing countries are using more energy as they improve their standard of living.


C.
the world’s population growth is slowing.


D.
foreign energy reserves are increasing.


E.
farmers in developing countries depend on the energy of animals for plowing and other work.
6. The undesired  atmospheric condition known as the greenhouse effect is mostly caused by increased levels of atmospheric:


A.
N2O.


B.
NO2.


C.
SO3.

 
D.
CO2.


E.
NO.
7. Nuclear fusion:


A.
produces a product with a larger mass than the starting material.


B.
is a form of combustion.


C.
involves splitting a large atom into two smaller atoms of different elements.


D.
is the rearrangement of electrons that occurs during a chemical reaction.

 
E.
is the process that powers the sun and other stars.

8. Nuclear fission:


A.
is a form of combustion.


B.
is the blending or "melting together" of two small atoms to form a large atom.

 
C.
is the splitting of a large atom into two smaller atoms of different elements.


D.
is the rearrangement of electrons that occurs during a chemical reaction.


E.
is the process that powers the sun and other stars.
9. The most successful recycling program in the United States involves:

 
A.
aluminum cans.


B.
old computers.


C.
glass.


D.
old automobiles.


E.
paper.

EXTRA CREDIT (1 problem worth)    One reason that only a small percentage of plastic is recycled is that:


A.
the supply of plastic waste is very limited.


B.
few applications using recycled plastics have been developed.

 
C.
it is more expensive to recycle plastics than to make the products from raw materials.


D.
there is no legislative support for recycling plastic at the local, state, or federal level.


E.
there are thousands of different kinds of plastic commonly found in consumer products.

Have a great end of your summer!
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